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T mm | B ie | m B “Feh | B “ie | me B “He | B “HeE | e B “Heh | B “HeE
(u Sv/h) (4 Sv/h) (1 Sv/h) (4 Sv/h) (1 Sv/h) (4 Sv/h) (1 Sv/h)
0:00 i 5 0.052 iz | 3 0.052 | #wtE| 2 XGEl || Amm | 2 0.051 i 4 0.052 il 1 0.050 | #wdE | 1 0.051
1:00 | 4tdx| 4 | 0053 | 4dx| 3 | 0.053 | &EieE:| 2 &8l Mm@ | 2 | 0.051 it 3 | 0053 | =&x=| 0 | 0.050 & 1 | 0.051
2:00 |4tdtm| 3 | 0.052 |[4dm| 2 [ 0.053 [ 1 KAl |[mm@m| 2 | 0051 |4dm| 4 | 0054 | =& | 1 | 0.050 & 2 | 0.051
3:00 i 4 0.053 s | 3 0.053 | dedm| 2 & [E 6 0.051 x| 5 0.053 il 2 0.050 i 3 0.051
400 | dtdm| 4 | 0053 |[4dm| 3 | 0053 [ kx| 3 & m® | 4 | 0051 |[4d&m| 6 | 0052 (&= | 1 [ 0.050 [ 2 | 0.051
500 || &= | 1 | 0.053 |[4d®m| 3 [ 0.052 it 2 &8l % | 4 | 0.051 it 5 | 0.055 ® 1 | 0.050 & 2 | 0.051
6:00 |@w&&\| 1 | 0.053 d® | 2 | 0053 |[dkE| 3 & % | 2 | 0.051 it 5 | 0058 |[4kx=| 3 | 0.050 it 2 | 0.051
700 |[#kE@w| 2 | 0.053 i 2 | 0.053 it 2 KRBl |[=dwm| 4 | 0051 | 4dm| 6 | 0058 | tst&E| 2 | 0050 [ =km| 1 | 0.051
8:00 |[[mm®| O | 0.053 | 4= | 2 | 0.053 dEm | 1 KAl |[mmE| 4 | 0051 |4dm| 6 | 0058 [ +4it&m| 1 | 0050 (mmm| 1 | 0.052
9:00 | mmE | 1 0.053 | =@m®m| 2 KA | wE| 1 & mE | 4 | 0.051 |dk=| 6 | 0.056 4 1 0.050 mE o 1 0.052
10:00 |[mmE@ | 2 | 0.053 mE | 1 V&l mE | 2 KAl |mmE| 3 [ 0051 | Adm| 6 [ 0057 | mmm| 1 0.051 | =m=m=| 2 [ 0.051
11:00 || 4 | 0053 |mmm| 2 KB ||=km| O &8l i 4 | 0051 |A#4m=| 7 | 0055 [mm=| 2 | 0051 |=m=| 3 [ 0.051
1200 || A% | 3 | 0.053 | =@=| 2 V&l i 2 KAl |[mmm| 3 | 0.051 |[ddm| 7 | 0.054 i 1 0.051 | =m=m=| 2 [ 0.051
13:00 ||mm@m| 3 | 0.052 [ 4 & AR | 1 XAl m®= [ 3 | 0050 |[#&m| 6 | 0.053 ®= [ 2 | 0051 | =4&m| 3 [ 0.051
14:00 || mm | 1 0052 |m@=®| 4 RE | mmE| 2 & mE | 2 | 0051 |[4k=| 7 | 0.051 = | 4 | 0.051 14 4 | 0.051
15:00 || 4tz | 1 0.052 | mmE| 4 XA ||mmE| 2 KRBl |[mmm| 3 | 0050 |[dkxm| 4 | 0.050 % | 5 | 0051 |[4dm| 3 | 0.050
16:00 | 2 | 0052 |mm®m| 5 RE | mmE| 2 KAl |[=m=m| 4 | 0050 |[#dm| 5 | 0050 | =idm| 3 | 0.051 14 5 | 0.050
17:00 || ®=m=| 3 | 0.052 mE | 7 V& = [ 1 | 0051 [=&xk| 2 | 0.050 #® [ 2 | 0050 | =ix=| 3 | 0050 |[dd&E| 7 | 0.051
18:00 || mm=| 2 | 0.052 MR | 4 KRB |[=dm| 1 | 0051 | =im| 6 [ 0.050 it 1 | 0050 | 4dm®| 3 | 0.050 |f4it&w| 8 | 0.050
19:00 || 4% [ 6 | 0.052 [ mm=| 2 V& it 1 | 0.051 ® | 5 | 0.050 t® [ 2 | 0.051 d® | 3 | 0051 |[dd=| 2 | 0.050
20:00 (| ddm| 5 | 0.052 | =m@m| 1 KEl ||®mkwm| 2 | 0051 [[4dm| 5 | 0051 [[=ikm| 2 | 0.050 = | 3 | 0.051 t® | 4 | 0.050
21:00 [|dd®m| 6 | 0.052 |m@E| O KRBl |[mm=| 1 | 0051 | kx| 4 | 0.051 t® | 4 | 0.050 i 3 | 0.051 t® | 4 | 0.050
22:00 [[4kzE| 6 | 0.052 # 2 KEl || =k=| 3 | 0051 [[4dm| 4 | 0051 [[4ikm| 2 | 0.050 i 2 | 0.051 t® | 4 | 0.051
23:00 [[4kE| 6 | 0.052 & 2 KRBl |[=dxm| 2 | 0051 | #km| 4 [ 0.050 % [ 1 | 0.050 |[4d#&| 2 | 0.051 |[=d=| 2 | 0.051




